| dE/dx estimator 1 | | dE/dx estimator 2 |

- - - - - - Entries 1 T - - - - - Entries 1
| S SO S e teeeeeiooo| Mean 2.125 | S S T teeeesiooo| Mean 3.125
- : : : : : Std Dev 0 - : : : : : Std Dev 0

L : : : : [ Entries 1 L : : : : ¢ | Entries 1
0 8_....i ...... Ao L.l Mean 2.125 0 8_._._:_______5 ______ N L i Mean 3.125
) : : : : : | .Std Dev 0 ' ; ; ; ; : | .Std Dev 0

: : : : | Entries 1 : : : : | Entries 1
: : : : | Mean 2.125 : : : : | Mean 3.125
0.6 : : : : .| std Dev 0 0.6 : : : : .| std Dev 0

oaf il e
T e R 1 e o

T 23 45 6 7 8 9 10 T 23 45 6 7 8 910

—=— DQM_TT__mkFit-DQM_
—e— DQM_TT__mkFit-DQM_adjusted
= DQM_TT__mkFit-DQM_adjustedi2

TS T T T T T T —] CTuTeS

o | feeneees Beeees B feeeeenes :-[ Mean
: ' ' ' ' ! | Std Dev

1 S S SO S Y
: : : : | Std Dev

Entries
Mean
Std Dev

Entries

0.8k T . . . .| Mean
' ; ; ; ; . [ Std Dev

Entries
Mean
Std Dev

Entries

0.6} ........ ........ ........ ........ Mean

Std Dev

o o ptdo o pldo o
o N pldoNn pkdo N e

.....................................................................

04‘_ ...................................................................

e e

09551620 30 40 50 60 70 80

10 20 30 40 50 60 70 80



	Contents
	Page 1


